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POWER SYSTEM-III
fratfa wag  dw e ] [rftrrem 3w : 70
Time allowed : Three Hours] [Maximum Marks : 70

Fe . (i) W uv sifErd & vim d @ feal afe & 3w §ifrg

Question No. 1 is compulsory, answer any five questions from the remaining.

(ii) 5% ge7 & T v @1 AR UF QY & AT |

Solve all parts of a question consecutively together.

(iii) W% A & 74 7 7 qR B |

Note :

1 )
(1)
(1i1)
(iv)
(v)

2, @)

Start each question on a fresh page.
(iv) ST 9rara & a7 817 ® [ty & st sqam gt o &

Only English version is valid in case of difference in both the languages.

Terfireren "o Y =R |

Explain the Diversity factor.

T $O S E I T R € 7

What do you understand by incremental fuel cost ?
AfER TUrE | A T WHE € 2 T |

What do you understand by power factor ? Explain.
e & fafir=y were & = fafiar |

Name various types of Tariff.

HIAT BT Bt AT A A SR ety |

Write the factors affecting corona loss. (2x5)

FTHE AN 9% a9 YR &Y g% § ¥4 3vaw ¥ 2 Ty ofkw waeed | = e
Tt fafi gaeet @ Seer o Fiv |

What is the defference between chronological load curve and load duration
curve? Explain with diagram. "Write various information derived from these
curves, :

) P.T.O.
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T Vi HaA i e S T 15,00,000 O 3@ IuE g 20 ad & 1= g
W?zomzﬁﬁmmﬁmmwﬁa&rﬁmaﬂmaﬁﬁﬁmﬁﬁm
FANTA 9T =T &Y 10% ¥

The capital cost of a power station is ¥ 15,00,000 and its useful life is 20 years.
Calculate the depreciation per year by sinking fund method, if the salvage value
is T 20,000 & rate of interest at capital cost is 10%. (6+6)

IR UTe QU o Tafi fafai &1 aofw s |

Explain various methods of power factor improvement.

FER AR F ¥ 9 W4T WL 0 AR WX ¥ RS9 # g avaean wr

& 2 guEed |

What is base load and peak load power plant ? What are the basic requirements
of base load and peak load plants ? Explain. (6+6)
R gt e =t @ a3 =1 9 | gueed |

Explain load frequency control with the help of a neat sketch.
ﬁwﬁ( &9 TEmEaw %1 Sfaz Tvis FT |

Describe off-load tap changing transformer with sketch. (6+6)
goft Hfeepor 9T Sftre feoquit fafad |

Write short note on series compensation.

fafas <=u divedr €900 W HEVISA W THIEE | AR I aeedr ®l
FTATEOT U7 WHIE Uy |

Explain the need of extra high voltage transmission. Explain the effect of extra
high voltage on environment. (6+6)

IeE aicedl & URT W01 & @Y § S fEfEd |

Write advantages and limitations of HYDC transmission.

fore wrr #feat & Rl wredt = aHEEd |

Explain different types of DC links. (6+6)

Afeftare 3= divedr TROT ARAT 3 HRIAT @ Hedl sfawor wE w5 e |
Explain corona and radio interference effect in EHV transmission lines,
= =t T
Explain the following :
(a) Taict i ateean
Disruptive critical voltage
(b) R i~ SteeT
Visual critical voltage : (6+6)

8. fr= & et =t W wiftrwr feroaforatt feafiad

Write short notes on any two of the following :

t))

T el
Synchronous phase modifier

(i) T IS WEvw

Conductor surface gradlcm

(iii) oL T

Bundled conductor - (6+6)
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